



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{4}\right) =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{98}{45} = 2\frac{8}{45}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{48}{5} = 9\frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{82}{5} = 16\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{5}\right) = \frac{1}{20}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{29}{100}$$

$$\left(\frac{1}{3}\right)^0 - \frac{3}{4} = \frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \left(-\frac{26}{5}\right) = \left(-5\frac{1}{5}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{1}{4}\right) = \frac{11}{100}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \frac{3}{5} = \frac{122}{5} = 24\frac{2}{5}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{19}{2} = 9\frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{89}{45} = 1\frac{44}{45}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{3}{4} = \frac{91}{100}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{61}{80}$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{3} = \frac{14}{3} = 4\frac{2}{3}$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{4}\right) = \left(-\frac{9}{20}\right)$$